RECEIVED NOV 10 2005

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM KCC WICHITA WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORICAL

Operator: License #	API No. 15 - 007229090000
Name: A G V Corp.	County: Barber
Address: 123 N Main	$N_{\frac{1}{2}}$ SE NW NE _{Sec.} 27 Twp. 32 S. R. 10 \square East \boxtimes West
City/State/Zip: Attica, Ks 67009	feet from S / (D) (circle one) Line of Section
Purchaser: West Wichita Gas	
Operator Contact Person: Larry G. Mans	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>620</u>) <u>254-7222</u>	(circle one) (NE) SE NW SW
Contractor: Name: VAL Energy Inc.	Lease Name: Rucker Well #: 2
License: 5822	Field Name: McGuire Goemann
Wellsite Geologist: Kent Roberts	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1440 Kelly Bushing: 1450
New Well Re-Entry Workover	Total Depth: 4528 Plug Back Total Depth: 4484
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 239. Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☒ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan Δ1 Τ ΜCR
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) Alt I 9-4-08
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	·
Other (SWD or Enhr.?) Docket No.	Operator Name:
7-1-2005 7-16-2005 8-17-2005	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec TwpS. R East West
Tiesempolier Bate Tiesempolier Bate	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	· · · · · · · · · · · · · · · · · · ·
herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: Saury M Mono	KCC Office Use ONLY
Title: Secretary Date: "/8/85 Subscribed and sworn to before me this 8th day of Movem	Letter of Confidentiality Received
Subscribed and sworn to before me this 8th day of Movem	leen, If Denied, Yes Date:
20 <u>05</u> .	Wireline Log Received
	Geologist Report Received
Date Commission Expires: UCL 1, 2007 Notary	AGNES ECK Public - State of Kansas res 10 - 7 - 200 7

Operator Name: A C	V Corp.	<u> </u>		Leas	e Name:_	Rucker		_ Well #: _2			
Sec. 27 Twp. 32	2 s. a. 10	☐ Eas	t 🔀 West	Coun	ty:E	Barber					
INSTRUCTIONS: Show tested, time tool open a temperature, fluid recove Electric Wireline Logs s	and closed, flowing rery, and flow rates	and shut if gas to	t-in pressures, v surface test, al	whether s long with	hut-in pro	essure reached :	static level, hydro	static pressur	es, bottr	m hole	
Drill Stem Tests Taken (Attach Additional Sh	eets)	×Ν	es 🗌 No			og Formatio	on (Top), Depth a	nd Datum	×	Sample	
Samples Sent to Geolo	gical Survey	□ Y	es 🔀 No		Nam	eebner		^{Top} 3428	Datum 1978		
Cores Taken		ПУ	es 🔀 No			ansing				-2200	
Electric Log Run		⊠×			1	ark Sh		* *		-2651	
(Submit Copy)					1	nerokee	Sh	4326		-2876	
List All E. Logs Run:					M	ississip	pi	4358	-	-2908	
Dual Ind	uction pensated	Poros	sity					RE(EIV	ED	
	al Report				NOV 1 0 2005					105	
			CASING	DECORD.	<u> </u>	[]		KCCI	NICI	HTA	
		Repo	CASING I rt all strings set-c		No.	ew Used ermediate, product	ion, etc.			0000	
Purpose of String	Size Hole		te Casing		ight	Setting	Type of	# Sacks	Туре	and Percent	
	Drilled	Set (In O.D.)		Lbs	. / Ft.	Depth	Cement	Used	<u> </u>	Additives GeI	
Surface		8 5	/8 24			239'	60/40Po	z 175	. 3%	CC	
Production		5	5 1/2		5	4527	AA-2	150		& Salt Gils	
			ADDITIONAL	CEMENT	ING / 601	ISSES DECORD					
*Purpose:	Depth				NTING / SQUEEZE RECORD acks Used Type and Percent Additives						
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom	Туре	of Cement	#Sack	s Used		Type and P	ercent Additives			
	PERFORATION	ON RECOR	RD - Bridge Plug	s Set/Tyne		Acid Fran	ture Shot Cement	Saugaza Bacos	· · · · · · · · · · · · · · · · · · ·		
Shots Per Foot			Each Interval Perf			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth 4406					
- 2 SPF			1100 Ga	1 15% NE							
·						Frac 38,250 20/40 Sand 4406 6000# 12/20 Resin Coated 4428					
TUBING RECORD	Size	Set At		Packer	At	Liner Run					
	2 7/8	435	50	4383			Yes 🔀 No				
Date of First, Resumerd P		nhr.	Producing Meth	nod	Flowin	g 🔀 Pumpir	ng 🔲 Gas Lif		er <i>(Explai</i> i	a)	
8-17-20		Dhia	0	NA of					o (exbigii		
Estimated Production Per 24 Hours	ľ	Bbis.		Mcf	Wat	er Bi		as-Oil Ratio		Gravity	
Disposition of Gas	5 METHOD OF C	OMPLETIC	60 N	L	250	Production Inter		2-1	24.	.7	
☐ Vented 🄀 Sold	Used on Lease		Open Hole	∑ Per	1. 🔲 I	Dually Comp.	Commingled				
(If vented, Subm	m ACO-18.)		Other (Special	fy)							

AT LIED CEMENTING CO., INC. PC OX,31 RUSSELL KS 67665 ph/(pds) \$88 enting Co., Inc 和Y0785 Pmx-5566 * IN V O] Russell, KS 67665 ---Invoice Number: 097508 Invoice Date: 07/06/05 RECEIVED Sold AGV Corporation NOV 1 0 2005 123 North Main To: Attica, KS 67009 KCC WICHITA Cust I.D....: AGV P.O. Number ... Rucker #2 P.O. Date...: 07/06/05 Due Date:: 08/05/05 Terms...: Net 30 Item I.D./Desc. Qty. Used Unit Price Net TX

 Pozmix
 -70.00
 SKS
 4.7000
 329.00 T

 Gel
 3.00
 SKS
 14.0000
 42.00 T

 Chloride
 6.00
 SKS
 38.0000
 228.00 T

 184.00 SKS 1.6000 1.00 MILE 180.0000 1.00 JOB 670.0000 12.00 MILE 5.0000 1.00 PER 75.0000 184.00 Mileage min.
Surface E 180.00 E E 670.00 Mileage pmp trk 60.00 E Head Rental Wooden Plug 75.00 E 55.00 All Prices Are Net, Payable 30-Days Following Subtotal: 2846.90
Date of Invoice. 1 1/2% Charged Thereafter. Tax....: 98.76
If Account CURRENT take Discount of \$28469 Payments: 0.00
ONLY if paid within 30 days from Invoice Date Total...: 2945.66 M7/22/05

FORM #F9000 58276

ALLIED CEMENTING CO., INC. 20747

¿MIT TO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	_M, L.
DATE 7-105 SEC. 7 TWP. RANGE 03W	CALLED OUT ON LOCATION JOB START JOB FINISH 12 Pm
	160 + Hazelton Rd. Barby SECENTED
OLD OR NEW (Circle one) LEASE VICENTIAN OLD CAST STATE STAT	
OLD OR NEW (Circle one) 3/4 East 5	South into
CONTRACTOR Val #3	OWNER HOV CORD.
TYPE OF JOB Sycface	_ KCG WICHINA
HOLE SIZE 12114" T.D. 239"	CEMENT
CASING SIZE 858 24,00 DEPTH 239'	AMOUNT ORDERED 1755x 60:40:2+
TUBING SIZE DEPTH DRILL PIPE 4 2 DEPTH Z39	<u> 3% cc</u>
TOOL OP DEPTH 2191	
PRES. MAX 200 MINIMUM SO	COMMON <i>105 </i>
MEAS. LINE SHOE JOINT 70	POZMIX <u>70</u> @ <u>4.70</u> <u>329.00</u>
CEMENT LEFT IN CSG. 20'	GEL <u>3</u> @_ <u>14.00</u> <u>42.00</u>
PERFS.	
DISPLACEMENT 14 bb fresh 20 shut-in	
EQUIPMENT	@
- 1	
PUMPERUCK CEMENTER Mile Lucker	
#302 HELPER Travy Cushinber	 @
BULK TRUCK	@
# 353 DRIVER Wichael COX	
BULK TRUCK	@
# DRIVER	— HANDLING <u>184</u> @ 1.60 294.40
	MILEAGE 12 X184 X, 06 180.00
REMARKS:	Min chig TOTAL 1986.9
12pmPipe on bottom break Circ-12pmS- Prod. Cement: 1755x 100:40:2+3% co	<u>C</u> SERVICE
O14.8 weight 200ps: 123, Stop Pum Rologse Wooden Plus Stort Disp.	DEPTH OF JOB 239
With fresh Natur 1240m @ 1466	PUMP TRUCK CHARGE 0-300' -670.00
fresh has Disp. Shut-in leave	EXTRA FOOTAGE @
20' Cement in Casing as shoe	MILEAGE \2 @ 5.00 60.00
Coment did Circulate: Shot - in 200,	MANIFOLD@
on Casing.	Head Kintal @75.00 75.00
•	
CHARGE TO: AGV. Corp.	- Car m
STREET	TOTAL <u>805, 07</u>
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	85/8 woodu Plug @ 55.00 55.00
To Allied Cementing Co., Inc.	<u> </u>
	(0)

You are hereby requested to rent cementing equipment



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE: 1700 S. Country Estates Rd.

1700 S. Country Estates Hi P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

1135/

Bill to:	553500 Inv	oice In	voice Date	Order	Order Date			
	ATTICA GAS VENTURE RECEIVED	061	7/21/05	10761	7/16/05			
	123 N. Main		Service D	escription				
	Attica, KS 67009 NOV 1 0 2005	Cement						
		Leas	· · · · · · · · · · · · · · · · · · ·	Wel	~~~			
	KCC WICHITA	Ruck		2	New Wel			
		AFE	; 	Purchase				
	CustomerRep -		The state of	ator with -	Net 30			
78 A 11 G	K. Roberts	The second second	D. 3	Scott	- Carried Contraction			
ID.	Description	UOM	Quantity	Unit Price	Price			
D205	AA2 (COMMON)	Sk	150	\$14.75	\$2,212.50 (T			
D203	60/40 POZ (COMMON)	Sk	25	\$9.33	\$233.25 (T			
C195	FLA-322	LE	3 113	\$7.50	\$847.50 (T			
C221	SALT (Fine)	GAI	776	\$0.25	\$194.00 (T			
C243	DEFOAMER	LE	36	\$3.45	\$124.20 (T			
C312	GAS BLOCK	LE	3 141	\$5.15	\$726.15 (T			
C321	GILSONITE	LE	750	\$0.60	\$450.00 (T			
C302	MUD FLUSH	GAI	500	\$0.86	\$430.00 (T			
C304	SUPER FLUSH II	GAI	500	\$1.53	\$765.00 (T			
F101	TURBOLIZER, 5 1/2"	EA	10	\$74.20	\$742.00 (T			
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"	EA	1	\$250.00	\$250.00 (T			
F211	AUTO FILL FLOAT SHOE, 5 1/2"	EA	1	\$320.00	\$320.00 (T			
C141	CC-1, KCL SUBSTITUTE	GAL	- 5	\$44.00	\$220.00 (T			
E100	HEAVY VEHICLE MILEAGE - 1 WAY	M	I 45	\$4.00	\$180.00			
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	M:	I 45	\$2.50	\$112.50			
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 N	IIN TM	367	\$1.60	\$587.20			
E107	CEMENT SERVICE CHARGE	SK	175	\$1.50	\$262.50			
R210	CASING CEMENT PUMPER, 4501-5000' 1ST 4 HRS ON LO	OC EA	1	\$1,827.00	\$1,827.00			
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00			
R702	CASING SWIVEL RENTAL	EA	1	\$150.00	\$150.00			

Sub Total: \$10,883.80

Discount:

\$2,720.80 \$8,163.00

Discount Sub Total:

ψ0,105.00

Barber County & State Tax Rate: 6.30%

Taxes:

\$355.07

(T) Taxable Item

Total:

\$8,518.07

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

County County		(INVOICE NO.					FIEI	D ORI	DER	10761
CONTINUED CONTIN						.0250						10/01
Aftica Gas Ventures Company Forestein				Customer ID	5	Rucl	(er		7		27-32	s-10w
Cating II Controlled Price = 9/63, -	SER	VICES,	LLC			_ Bai			P .		PraH	KS
Case		ca Gas	Ven	tures		,	<u> ア</u> タミ	4327	1 13.5	sh اعدر	oe Joint	
Control Cont	A				'	Casing 5 1/2			י ס־	' ' Job	Туре	
ATE Number ATE Number Product Code Guntity MATERIAL EQUIPMENT and SERVICES USED D. 205 S.S. S.	G				C				Trea			ng New Well
Rocand by X Received Received X Received	-					DENT	Lopert	<u> </u>		$\frac{\nu}{\gamma}$	Sco#	
D205 ISO SKI AA - 2			PO Nui	mber			x to	not.	F		/ 	
D205 150 ski AA-7 D203 25 ski 60-40 par C195 113 lbs FLA-372 C221 77b lbs 5alt fine C243 36 lbs Defamer C312 141 lh Gas Blak C321 750 lbs Gisonite C302 500 gali Mud Flush C304 500 gali Mud Flush C309 10 ca /entralizers 5/12 F101 1 ca /entralizers 5/12 F111 1 ca fub K11 Flact Shee" C141 5 gali Cl-1 F210 1 ca 7rk mi /way 45 mi F104 367 tm Bulk Delv Chy F107 173 ski Cmt Jenv Chg R210 1 ca Cmt Head Rental Discounted Price = 9/63,— Discounted Price = 9/63,—		QUANTITY	MATE	RIAL, EQUIPMENT	and SERV	ICES USED	UNIT PRICE	AN	OUNT	CORE	ACC	
C195 113 lbs FLA-322 C221 1716 lbs Salt fine C232 36 lbs Defamer C312 141 lbs Gas Blok C321 750 lbs C321 750	D205	150 ski		4			_				12011011	AWOUNT
C221 776 lbs Salt fine C243 36 lbs Defamer C312 141 lbs Gas Blok C321 750 lbs Gilsonite C307 500 gali Mud Flush C304 500 gali Super Flush II	D 203	25 ski	60)-40 po	7		_					
C312 141 1hi Gas Blok C321 750 1hs Gilsonite C302 500 gali Mud Flush C304 500 gali Super Flush II - F101 10 Fa Lentralizers 512 - F171 1 rq L.D. Plugt Baffle "- F211 1 Fa Auto F11 Float Shee" - C141 5 gali (C-1 E100 1 Fa Trk mi lway 45 mi F104 367 tm Bulk Delv Chy F107 713 ski Cmt Serv Chy R210 1 cq Pump Charge R702 1 cq Csg Swivel Rental Discounted Price = 8/63, -	<u>C195</u>	113 Ubs	FL	A-322								
C312 141 1 hi Gas Blok (321 730 lbs Gr/sonite C307 500 gali Mud Flush C304 500 gali Super Fluch II — F101 10 ra Centralivens 5/12 — F111 1 ra Lin. Pluga Baffle 1" — F211 1 ra Auto F11 Float Shee" C141 5 gali CC-1 F100 1 ra Pick yo mi hoay 45 mi F104 362 tm Bulk Delv Chy F107 173 ski Cmt Serv Chy R210 1 ca Pump Charge R701 1 ra Csy Swivel Rental Discounted Price = 8/63,— Discounted Price = 8/63,—	<u>[22]</u>	776 Lbs	50	It fine	<u> </u>						·	
(301 500 gali mud Flush = (304 500 gali mud Flush = (304 500 gali Super Flush TI = (5101 10 Fa Centralizers 5 112 = (5111 1 Fq L.D. Plugt Baffle 11 = (5111 1 Fq L.D. Plugt Baff	C243	36 Lbs	De	former								
(307 500 gali Mud Flush (304 500 gali Super Flush II — F101 10 Fa Centralizers 5/12 — F111 1 rq L.D. Pluga Baffle 1' — F211 1 ra Auto F11 Float Shee"— (141 5 gali C.C-1 F100 1 Eq Tr.K mi /way 45 mi F101 1 ra Pickyo mi /way 45 mi F104 367 tm Bulk Delv Chy F107 173 ski Cmt Serv Chy R210 1 cq Pump Charge R701 1 ra Cmt Head Bentol R702 1 cq Csg Swivel Rental Discounted Price = 8/63.—	<u>C312</u>	141 1 b	Ğq	s Blok		·						
(304 500 gal: Super Flush II. F101 10 Fa Centralizers 5"z F171 1 rq L.D. Pluga Baffle " F211 1 Fa Auto F11 Floot Shoe" (141 5 gal: CC-1 E100 1 Fa Trk mi lway 45 mi F101 1 ra Pick yo mi lway 45 mi F104 367 tm Bulk Delv Cha F107 173 ski Cmt Serv Cha R210 1 ca Pump Charge R701 1 ra Cmt Head Rentol R702 1 ca Cs Swivel Rental	(32/	750 Lbs	60	Sonite								
E101 10 Eq	<u>C302</u>	500 gali	Mo	ed Flusi	<u></u>		=					
E101 10 Eq	<u>C304</u>	500 gali	<u> </u>	per Flu	sh 7		<u> </u>	<u> </u>				
E211 Fa Auto Fill Float Shee" C141 5 gali CC- E100 Fa Trk mi /way 45 mi RECEIVED E101 Fa Pick yo mi /way 45 mi NOV 10 20 mi E104 367 tm Bulk Delv Cha KCC WICHITA R210 Fa Pump Charge R701 Fa Cmt Head Rental R702 Fa Csg Swivel Rental Discounted Price = \$163,-	F101	10 Eq	<u>Le</u>	utralize	2/15		 -					
Discounted Price = 9/63, -	<u> </u>	1 69	h_L). Pluga I	3affle		-					
E100 EG Trk mi /way 45 mi E101 ra Pick yo mi /way 45 mi E104 367 tm Bulk Delv Chy E107 173 ski Cmt Serv Chy R210 C9 Pump Charge R701 C9 Cmt Head Bentol R702 C9 Csy Swivel Rental	FJII				Float	Shoe"		ļ				
E101 rq Pickyo mi lway 45 mi E104 367 tm Bulk Delv Chy E107 173 ski Cmt Serv Chy R210 rq Pump Charge R701 rq Cmt Head Rental R102 rq Csg Swivel Rental Discounted Price = 8/63, -		5 gali		<u>/-/</u>			<u> </u>			<u> </u>		
F104 367 tm Bulk Dely Chy F107 173 ski Cont Serv Chy R210 1 cq Pump Charge R701 1 ca Cont Head Bental R702 1 cq Csq Swivel Rental Discounted Price = 8/63,-		1 EG				<u> </u>				RE	CEIVE	D
R210 1 C9 Pump Charge R701 1 C9 Cmt Head Bentol R702 1 C9 Csg Swivel Rental Discounted Price = 8/63,—			<u> </u>	(40 mi /u		45 mi		ļ. <u></u>	· · · · · · · · · · · · · · · · · · ·	NOV		
R210 Cq Pump Charge R701 Cq Cm+ Head Bento R702 Cq Csg Swive Renta Discounted Price = 8/63,—			<u> 13 u</u>	IK Delv	Chy			-		1		
R702 1 cg Csg Swive Rental Discounted Price = 8/63, -		1	Cm,	t Serv	Chy				-	KCC	<u>WICH</u>	ITA
R702 Eq Csg Swive Rental			<u> </u>	mp Char	9 6			ļ				
Discounted Price = 8/63, -								 				··· •
Discounted Price = 8/63,-	15705	1 69	<u>Cs</u>	Sw-Ne.	Ren	ta/						
Discounted Price = 8/63,-												
Discounted Price = 8/63,-				<u> </u>						· · · · · · · · · · · · · · · · · · ·		
												
									7			
								 -				
				 	·							
			7).	. 1	D :		01/2 =					
10244 NE Hiway 61 · P.O. Box 8613 · Pratt. KS 67124-8613 · Phone (620) 672-1201 · Fax (620) 672-5292			UĽS	ounted_	Price	===	8/63,	-				· · · · · · · · · · · · · · · · · · ·
10244 NE Hiway 61 • P.O. Box 8613 • Pratt. KS 67124-8613 • Phone (620) 672-1201 • Fax (620) 672-5222												
	10244 NE Hi	way 61 · P.O. F	3ox 8613	Pratt. KS 671	24-8613	Phone (620) 672-1201 . F	ax (620) e	72-5383	TOTAL		